E‘L,Wg;‘;':,fjgg;’;;'gms® Installation Instructions for 1500 Series

Cheshire, CT 06410 203-699-3300 (Ph) Door Holder Extension Kits

203-699-3365 (Cust. Serv. Fax)
203-699-3078 (Tech. Serv. Fax)

c. Inserttheextensionrod into the armature base and secure

Description with #10-32 x 1 1/2" (38 mm) armature securing screw
. . . (Figures1-3).
The Edwards 1500 Series Door Holder Extension Kits are used
where it is desired to hold doors open and where a standoff dis- d. [Insert spherical bushings (supplied) and flat washers
tance between the magnet assembly and the armature base is re- (supplied with 1500-7 and 1500-12 only) into the
quired. The extension rod kit can be used with Edwards 1504, extension rod assembly as shownin Figure 2 or Figure 3,
1505, 1508 and 1509 Series Door Holders. Parts from these door as applicable. Secure catch plate in extension rod using
holders are used with the extension kits to form a complete unit. #10-32UNF x 1" (25 mm) securing screw (Figure 2).
e. For adjustable units only, adjust the extension length by
ifi i loosening the knurled locking nut, extending the rod to
Specifications the desired length and retightening the knurled locking
Model Number Extension Range nut (Figure 2).
1500-1 1 1/2" (38 mm) Fixed NOTE: Proper alignment of the catch plate and the

electromagnet helps ensure sufficient holding force.

1500-2 2" (51 mm) Fixed f.  Align the catch plate with the electromagnet by moving
1500-7 6.37 - 8.00" (162 - 203 mm) the extension arm up or down and back or forth while
simultaenously adjusting the catch plate against the
1500-12 8.37 - 12" (213 - 305 mm) magnet. There should be no gap between the catch plate
and the magnet.
Installation g. After the desired extension length and contact alignment

have been achieved, perform the following (Figure 2):

A WAR N I N G 1. Usinga5/32" (4 mm)Allen Wrench (supplied), lock

) ) ) . ) the extension arm into position by tightening the
The extension Kits project a significant distance from armature securing screw (Figure 2). Do not

the doors they are mounted on and should, therefore, overtighten.

be mounted as high as possible to preclude interfer- h. Perform an operational check of the Electromagnetic
ence or personal injury. Door Holder as outlined in the installation instruction
provided with the door holder.

) ) 2. For more detailed information on installation of the door
a  Removethe#10-32 x 1 1/2" (38 mm) armature securing holders, see the instructions supplied with the door holder.
screw and remove the catch plate from the armature base
(Figurel).

b.  Insert spherical bushings (removed in Step 1.a) as shown
in Figure 2 or Figure 3 as applicable. If bushings are
damaged, replace with bushings supplied with the door
holder extension kit.

1. Instal the extension kit as follows.

(2) Spherical Bushings

Catch Plate j

Figure 1. Armature Base Assembly

#10-32 x 1 1/2" (38 mm)
Armature Securing Screw

P/N 3100331 ISSUE 2 © 2004



/_ #10-32 x 1 1/2" (38 mm)
Armature Securing Screw

(supplied with door holder)

G

Armature Base (supplied with door holder)

(2) Spherical Bushings
(supplied)

Extension Tube
Assembly

#10-32 UNF x 1 (25 mm)

/ Screw (supplied)

(2) Spherical Bushings

/ (supplied)

Knurled Locking Nut

(2) Flat Washers
(supplied)

#10-32 UNF Nut —/
(supplied)

Catch Plate
(supplied with door holder)

Figure 2. Extension Rod Assembly (Adjustable 1500-7 and 1500-12 Model)

Catch Plate
(supplied with door holder)

(2) Spherical Bushings
(supplied)

#10-32 UNF x 1" (25 mm)
Screw (supplied) —————>

0 #10-32 UNF Nut

Extension X (supplied)
Assembly

(2) Spherical Bushings

® (supplied)

Armature Base
(supplied with door holder)

0

#10-32 x 1 1/2" (38 mm) /
®)

Armature Securing Screw
(supplied with door holder)

Figure 3. Extension Rod Assembly (Adjustable 1500-1 and 1500-2 Model)

P/N 3100331 ISSUE 2




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts false
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [300 300]
  /PageSize [612.000 792.000]
>> setpagedevice




